ED-111

M.Com. 3rd Semester
Examination, March-April 2021

Paper - 1

Management Concept

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

;9 Tl % S ST |l gl o+ e
hE

Note : Answer all questions. All questions carry equal
marks.

T&e / Unit-1

1. YsiY i STIURON hl TIL HifST| YR
afefer fore ® Yy & 9gd U HEW ohi

faa=m wifsa |

Define the concept of management. Discuss
the increasing importance of management in
the economic development of India.

374l / OR
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(2)
Yoy foemumn & fafa= ol o1 dfera
EUERCTIE

Explain in brief the different schools of

management.

1S / Unit-IT

2. fraem =1 d%feus Aifqdl, wefafel qon
FEHA ¥ 99T HH ok ®Y H ORWIG
fopan ST =nfeu | To= sifsw qen e °
fafa= =Rl o1 Fula i

Planning should be defined as the selection

from alternative policies, procedures and
programmes. Elucidate and indicate the

various steps involved in planning.
37947/ OR

“afuRl w1 aRMu R S geRar § fRg
SISl w1 T 39 RUT H Uk
fagral & w=d ¥ uiten wifem)

“Authority can be delegated but not

responsibility.” Examine this statement in the
light of its principles.

DRG_1 (4) (Continued)



3.

(3)

Th18 / Unit-111
fdwm & fafvy= fagral &t == &ifsel

Discuss the various principles of directing.

374l / OR

gy H = &t fier st foaem wifsa)
foret ofrenfirer sohe H Suasy fafu= =
qehiehl 1 G&9 § THART |

Discuss the role of control in management.

Indicate briefly the various types of control
techniques available in an industrial unit.

Z18 / Unit-IV
SN § = o™ ® 2 AIfiRer & =

dehiehl @R U ShHIfST |

What do you understand by motivation ?

Describe the main techniques of motivation.
34T / OR

ATYTO &) T TIERYN I T ? TRl
% fau @ w1 ARE §2?

What is the equity theory of motivation ?
What does this mean to managers ?

DRG 1 (4)

(Turn Over)



(4)
313 / Unit-V

5. g TARHRAl @ ¥ AR ¥? UE
TRl o U @i fad=dl shifsu |

What is meant by group dynamics ? Discuss
the importance of group dynamics.

374l / OR

g fmo fFR wed €2 g fmw &%
N HRU BId © 7 Ui T SO
gl ! wdRu|

What is group formation? What are the
causes of group formation? Discuss formal
and informal groups.

DRG 1 (4) 1,200



ED-112

M.Com. 3rd Semester
Examination, March-April 2021

Paper - II

Organisational Behaviour

Time : Three Hours] [Maximum Marks : 80
de gt gl & SW AW wf oyl Fosw
peic i
Note : Answer all questions. All questions carry equal
marks.
TS / Unit-I

1. o@Edg I URYMNT TSC|  STEEEd @
yfehar Wa 3% dodl okt faa=Ar wifSa

Define perception. Discuss the process and

elements of perception.

374l / OR

gy &l STEUNOT hl TR HifGQ | e
& foarym@eTl =1 §89 § quiF it |
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(2)

Explain the learning concept. Describe in brief
the theories of learning.

1S / Unit-IT

2. AJc I SFAAYRUN bl TR HIWCI g
JeFeehd WA T UM ShITST |

Explain leadership concept. Describe the
Managerial Grid of leadership.

374l / OR

g P A B 7 fawd w AR Aqe
FONferdl <Rl o9 ST |

What is meant by leadership? Describe
Likert’s four systems of leadership.

TS / Unit-111

3. TuY h UFRE qel MYk IUNTHl ol
GHART qUT 379 3T HiT |

Explain and differenciate  between the
traditional and modern approaches to conflict.

374l / OR
frafafea w fewfmr fafay
() ¥ & fopama wd gfSRar@ 189
(b) F&E & FEY

DRG_52 (4) (Continued)



(3)

Write notes on the following :

(a) Functional and dysfunctional aspects of
conflict

(b) Management of conflict

gh1s / Unit-IV
4. GIERT 9 R ANE ©? 9YEl €9R %
YRl i SARAT hifSIT |

What is meant by communication ? Explain
the guidelines for effective communication.

374l / OR

Yoy § TIEET k1 1 Hecd ¢ 2 oo
HIT H Tk 87 H Hevard H oy
YPR GUR T =1 dFhar © 2

What is the importance of communication to
management ? Discuss how communication
might be improved in an organisation.

$T8 / Unit-V
5. Ged fomm ¥ = o § 2 ded faew
i fafei o1 @849 H oo HifSw
What is meant by organisation development ?

Describe in brief the methods of organisation
development.

374l / OR

DRG_52 (4) (Turn Over)



(4)

“qiigde 1 gfauY gdifie Sge SRl
¥ ¥ T gl fao=m sifSu)

“Resistance to change is one of the most
ubiquitous phenomenon.” Discuss.

DRG 52 (4) 1,200



ED-113

M.Com. 3rd Semester
Examination, March-April 2021

Paper - III

Advance Cost Accounting

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

A 9t Tl F S AT w gl F s
hE

Note : Answer all questions. All questions carry equal
marks.

Hh1s / Unit-I
1. 99 9@ 9 39 FI GHHAd © ? Tk SISk
] ITRI FT I T? ARG o@l 9
UTd o 1 JUF ST |

What do you understand by Cost Accounts ?
What is their utility to a producer ? Describe

the benefits from Cost Accounts.

374l / OR
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(2)
(o) ‘THaeaar sTewr Awnt’ & § 2 3@l UM
F HI W 2

What is ‘Economic Order Quantity’ ?
How is it calculated ?

(b) X Suiw & fou frAfafea eiwe feu
S| %
M ST 50 Zeh1EAl 9fd HwE

A SN 25 TRIAT Ufd TwE
srforeRa® SYEMT 75 TehTsdl Uid TwE

T SR [ 400 3T
T 3Ry 31afy 4 | 6 H@IE
X U 1 FAqH &R T AfMRdH &
T HINT

The following data are given for
component X :

Normal usage 50 units per week
Minimum usage 25 units per week
Maximum usage 75 units per week
Re-order quantity 400 units
Re-order period 4 to 6 weeks

Calculate minimum level and maximum
level for component X.

DRG_112 (11) (Continued)



(3)
ST / Unit-11
2. 99 AN SRl sl YUid: HHHART |

Explain fully the system of labour cost.
37947/ OR

IR T § 7 ARl Ao HE e
a2

What are overheads? How are they
classified ?

THE / Unit-111
3. fTrofafea w dfya fewfomr fafew) 3

@l H 3Rl P FerR fRar smam?
(a) JHIUE e

(b) FET T AT

(¢) Ik I WU T WA

(d) "It B1g |

Write short notes on the following. How it

will be treated in contract accounts ?

(a) Work certified

DRG_112 (11) (Turn Over)



(4)
(b) Work done but not yet certified

(c¢) Issue of plant to contract

(d) Materials in hand

374l / OR

< 3fUead ZiEUe IO $© Hiewntsdl W

g1 = g @ stda 2019 mWE W wfd

fohdmiey TR=eq 9Rera fo@d gu aRe

T AR

T
e 6l Heigd 15,000
e d 399 92 10,500
e § SU9M e 1,220

1-4-2017 I TfgaAl I AN ¥ 3,00,000
off | Jg™l UYM USid ¥ 25% BH EU|
mfsAal 7 A H 20000 fRariex & T @U

T i
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(3)

SAa afties =@ 9 &R 9 ¢

z
A 46,800
IR 99 36,000
ARG, S ST 37,500
TS 1 forman wd X 22,750
fafay == 75,000

The Indian Transport Company maintains a
few motor vehicles. From the information
given below, prepare cost statement showing
cost of operation per k.m. for the month of
April, 2019 :

F
Wages for the month 15,000
Petrol consumed for the month 10,500
Oil consumed for the month 1,220

On 1.4.2017 the cost of the vehicles was
¥3,00,000. Charge depreciation on reducing

instalment system at 25%. The vehicles

DRG_112 (11) (Turn Over)



(6)

covered a trip of 20000 k.m. during the
month. Estimated annual expenses were as

follows :
F
Repairs 46,800
Tyre-Tube expenses 36,000
Licence, Insurance etc. 37,500

Rent & Rates of the Garage 22,750

Miscellaneous expenses 75,000

TH1 / Unit-IV
4. 'HgF SER qA IUCAR W gRIfa
I d91 THART| 3T UGl Hl SRy
S EgE ARl o IR § YA Wi
SR

Define and explain the terms ‘Joint product’
and ‘By-product’. Enumerate the methods
which may be employed in costing ‘Joint

product’.

374l / OR

DRG_112 (11) (Continued)



(7)

Hled ocH Wk O & fmEio § v
gEEft ® WA wd T | a%g o i e

sl # 0§ TR ToRa R

CL|

2014-15 & YgH dH HE & IAET &

o oo~ RN .
[HlcliEd Hleng %:

gfsham X gy | 9feanz

Td 7 1,44,000 7 80,000 ¥ 21,000
R H HH 5% 10% 20%
TG

pejeaf 2000 ZaTEAl

NIGRIGEETE F 200

e 100 ST | 60 SHEAT| 120 SHEA!
AT Hl

faraqeg |7 50 Wi SeTE |3 50 Wfd 318 | % 50 Ui 3RS
[EERE

i 3hTe 7 400 7 600 7 1,000

X gfewan &1 <1 fage qen vy ufseam o1 smen

qNT STTelt Ufshan ol B&ATANd fhan Smar &
T Y R 9 e S T3 gEed
YR R Yfshan @ FRT |

DRG_112 (11)
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(8)

Modern Brothers uses a patent material in the

manufacture of a product. Its manufacture passes

through the three procesess. Figures related to
manufacture for the first-three months of 2014-15

are as follows :

Process X Process Y | Process Z
Productive wages
and expenses ¥ 1,44,000 ¥ 80,000 ¥ 21,000
Loss in weight 5% 10% 20%
Raw material
introduced 2000 units
Cost per unit 3200
Scrap 100 units 60 units 120 units

Sale price of scrap

Sale price per unit

¥ 50 per unit

7400

¥ 50 per unit

7600

¥ 50 per unit

71,000

Two-third part of process X and half part of

process Y are passed on to the next process

and the balancing part is sold. On the basis

of given information prepare process accounts.

313 / Unit-V
5. ool fEFw @ §? e Wi & fau

IBE TH I TEIS heHl ki e

HIFSTT |

N
ad-l
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(9)

What is Budgetary control? Discuss the
necessary steps which are taken for its

installation.
37947/ OR

giaar fdo & YRR ® IA@R WAW @ -
ATq Bl <@ & fafw= wmi § wEer &
fast & = fawm €1 31 9N, 2016 W
T B Ol 99 o fAu fashg Ose on:

A 3] B3]
(3epTEAN) (3eTEAN)
X favm 300000 400000
Y favm 562500 600000
7 favm 180000 20000

qeft faurti # fosra qoa 4 91 B 1 HEW:
T4 IR T2 T A8 79F ® R fora dfs
F YO T FH W B SARE & Ot X
fawmr # 175000 TEA € GG W Ig
ff emem € & otfue Saea o fawa
faqsH 9§ Z faum § B 3S™E @t fasht 50000
ThEAl 9 Afue g S|y favm
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(10)

S fosha @ed SdmoeHe T8 ® ST
SUh! SHI a3 ok FAIAW 20% STHH
feu =M

31 H74, 2015 W HAMK B ol 98 & fog
fosra a9 dIR wifST |

Pratibha Ltd. manufactures two types of
product 4 and B. The company has three
departments for the sales in different areas of
the country. The sales budget for the year
ending 31st March, 2015 were :

Product 4 Product B

(units) (units)

X Department 300000 400000
Y Department 562500 600000
Z Department 180000 20000

Sales price are ¥4 and T2 for 4 and B
product respectively in all departments. It is
estimated that by intensive sale promotion the
sale of productB in Department X will
increase by 175000 units. It is also expected
that by increasing production and arranging
extensive advertisement Department Z will be
able to increase the sale of product B by

DRG_112 (11) (Continued)



(11)

50000 units. It is recognized that estimated
sales by Department Y represent an
unsatisfactory target. It is agreed to increase
both estimates by 20%.

Prepare a sales budget for the year ending
31st March, 2015.

DRG_112 (11) 1,200



ED-114

M.Com. 3rd Semester
Examination, March-April 2021

Paper - IV

Management Accounting

Time : Three Hours] [Maximum Marks : 80
de gt gl & S AW wf Tl Fosw
peic i
Note : Answer all questions. All questions carry equal
marks.
TS / Unit-I

1. Jer¥H o@ied 9 F ANA T ? YaUh
A@IHT & HIE h] IUH BT | FeEhd
@iRT % IYRU TS dehAleR FT © ?

What do you mean by Management
Accounting ? Explain the functions of
management accounting. What are the tools
and techniques of management accounting ?

374l / OR

DRG 175 (7) (Turn Over)



(2)

gerehid @ik § A R HHAd © ?
JUehId oIEichd & Ie¥d Wd &5 19U
HIFSTT |

What do you mean by Management
Accounting ? Discuss the objectives and scope
of Management Accounting.

1S / Unit-IT

2. I d@iHT F T2 THH! fawroans
S OdRU| SHh oI Td hiHA] F Q2

What is Responsibility Accounting ? Explain
its characteristics. What are its advantages and

short-comings ?

374l / OR

S &5 = §? fafi= weR *
ST H=] & a9 H fag=mn Fifs|

What is Responsibility Centre ? Briefly
explain the different types of Responsibility
centres.

TS / Unit-111

3. 9o &I gRYmeT SifSe | asei & fafvy= geri
S FRAT HIST |

DRG_175 (7) (Continued)



(3)

Define Budget. Explain the different types of
budgets.

3744l / OR

Teh HR@MET H 10000 THSAT o IAET
faqu =g oo =1 yer feu o ¥ .

EIECTE

(%)
ESIEDi 70
a9 25
qReEdIINe SRS 20
TR 3UReId (T 1,00,000) 10
PIECRE NI e 5
fosnt = (10% &) 13
famm =3 (20% TER) 7
e =4 (¥ 50,000) 5
FA AN 155

(i) 8000 THEAT WA (if) 6000 THEA o fAT
3AET o o9 IR HIfSW| I HH o T
YR =99 ST & T W W OfER
gl |
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(4)

The expenses budget for production of 10000
units in a factory are furnished below :

Per unit

)
Materials 70
Labour 25
Variable overheads 20
Fixed overheads (¥ 1,00,000) 10
Variable Expenses 5
Selling Expenses (10% Fixed) 13

Distribution Expenses (20% Fixed) 7
Administrative Expenses (¥ 50,000) 5
Total Cost 155

Prepare a budget for the production of
(/) 8000 units and (i) 6000 units. Assume
that administrative expenses are rigid for all
levels of production.

Ta1e / Unit-IV

4. ‘vag o fafy’ v @1 gRwifva i
FR0 Tfed AR f& ww TN Teen
® ya9 ard fafy s stuArt =nfew ?

DRG_175 (7) (Continued)



(3)

Define the term ‘Standard Costing’. Explain
with reasons why an industrial concern should

introduce standard costing system.
34T / OR

T el dxam e ywg g fafy

I g3 §, Frefafed ged wem o
g

Hqh :

80 fwn vl o & faw wmh

T R HA ¥ 1.20 per kg
qreafa :

EIRIEE| 240000 kg
T 9 315000 kg
Ea1k 0 M GBI ¥ 3,46,500
EICECTIE L

(a) T IR o=
(b) FHT HoF foe=ru
(c) At @rrd fo=ro

DRG 175 (7) (Turn Over)



(6)

A manufacturing concern which has adopted
standard costing, furnishes the following

information :

Standard :

Materials for 80 kg Finished Products

Price of Materials ¥ 1.20 per kg
Actual :

Output 240000 kg
Materials used 315000 kg
Cost of Materials ¥ 3,46,500
Calculate :

(a) Material Usage Variance
(b) Material Price Variance

(c) Material Cost Variance

T&1e / Unit-V

5. 9WM @A @ik i STEYRONT ol
qHEST | HHN AN ki fawieand, HrEard
Ao HE HHEEY |

Explain the concept of marginal costing.
Explain the characteristics, assumptions and

limitations of marginal costing.

374l / OR

DRG_175 (7) (Continued)



(7)
T wHe geX fdo 9 grfed ©

AT AT YiqHTe 5000 ST
qiEdeial AN Z 10 9fd s&Ts
St ST 5400 Tl

fasa 5000 SehEAl W T 20 i THE

TeeR FHREMT IYNET T 10,000 FiaHE ALSN
TR &qdl W T2 U SHE |

I feeR =99 20,000 HiqHE |
Y arg fafyr & R W e faerm
TIR HifeT |

The following data are related to Prakhar Ltd :

Normal capacity per month 5000 units
Variable cost ¥ 10 per unit
Actual Production 5400 units
Sales 5000 units @ % 20 per unit

Fixed factory overheads ¥ 10,000 per month
or ¥ 2 per unit at normal capacity.
Other Fixed Expenses ¥ 20,000 per month.

Prepare Income statement under Absorption
Costing.

DRG_175_(7) 1,200



ED-115

M.Com. 3rd Semester
Examination, March-April 2021

Paper - V

Accounting for Managerial Decisions

Time : Three Hours] [Maximum Marks : 80
de gt gl & SW AW wf Tl Fosw
peic i
Note : Answer all questions. All questions carry equal
marks.
TS / Unit-I

1. TF T U9 & F<Hd o WeE § | Y
T M @ U =wa § SR 3% ThiEd
e % Y H g ded § | e faer
3T T :

e Tl [

T &Hdl 60% 60%
fawa ¥ 1,20,000 ¥ 3,00,000
PIECRENIGIRGIRI ¥ 90,000 ¥ 2,20,000
e @rma ¥ 25,000 ¥ 40,000
MU o § T —

() Tafya wmve &t F awa gt N9 W
e 9 7 oy g A B2

DRG 237 (8) (Turn Over)



(2)

(i) Tehihd &THAT o 75% h1d TX CATHGTIH
ERINEtI
(iif) T8 Taha T ¥ 60,000 T FA ATH T ?

There are two plants under the same
management. The management wishes to
merge these two plants and to run them as
one integrated plant. The following particulars
are made available :

Plant / Plant /7

Capacity in operation 60% 60%

Sales ¥ 1,20,000 ¥ 3,00,000
Variable Cost 90,000 ¥ 2,20,000
Fixed Cost 25,000 ¥ 40,000

You are required to state :

(/) What would be the capacity of merged
plant to be operated for no profit-no
loss ?

(if) What would be the profitability on
working at 75% of the integrated
capacity ?

(iiif) What turnover would give on over all
profit of ¥ 60,000.

37947/ OR
‘gt A ‘e’ vl o W ara &
F qfm €2 3@ fola &1 gwifaa @
A T HRhI i fag=q1 S|

DRG_237 (8) (Continued)



(3)

What is the role or marginal costing in the
decision of ‘Make’ or ‘Buy’ ? Discuss the
other factors which effect this decision.

ST / Unit-I1
2. foxita foeruil & foweraor 9 o9 %1 9werd € ?
! fafu= faftrl e 2w =t =amen wifee |
What do you understand by the analysis of

financial statements ? Explain its various
methods and objects.

37947 / OR
=1 gH&l ¥ UM ST :
() ] AU

(i) FRO-9HAT AU
(iii) TR wEafd ST,
(iv) YA &Hal 3T,

(v) T 3T

z
quar S gSh 2,00,000
=g wg Sifdi 90,000
10% SROTq 1,50,000
MRS <F (TAER) 30,000
et Tt (IS) 3,50,000
ey 45,500
AR 9T (TER) 12,500
UhS 62,000

DRG 237 (8) (Turn Over)



(4)

From the following data calculate :
(/) Current Ratio;

(if) Debt-Equity Ratio;

(iii) Fixed Assets Ratio;

(iv) Solvency Ratio;

(v) Proprietary Ratio.

F
Equity Shares Capital 2,00,000
Reserve and Surplus 90,000
10% Debenture 1,50,000
Trade Payables (Creditors) 30,000
Fixed Assets (Net) 3,50,000
Inventories 45,500
Trade Receivables (Debtors) 12,500
Cash 62,000

TS / Unit-111

3. gy fafy qur ooy fafy g/ d=mem
Tfafafei ¥ ke ga® i MO 39 fohg

YhR hidl 7 ISRV dfed THSARU |

How will you calculate Cash flows from
operating activities by Direct method and
Indirect method ? Explain with examples.

3Y4qr / OR
T fer W wHel 9@ wiY g foere-ud
qo wEAE Yot § e ®i YT TIR

SIS

DRG_237 (8) (Continued)



(3)

31 €, 201831 A, 2019
(%) (%)

e gsit 10,00,000 | 12,50,000
= 99 2,50,000 | 3,00,000
AY-BIH fereor o5
(3fa=h) 1,52,500 | 1,53,000
[GEALE 7,50,000 |  6,76,000
S BT (TTHIen) | 3,50,000 | -
F o fau grau™ 1,50,000 | 1,75,000
9= 7,50,000 | 8,45,000
qfH T He 10,00,000 |  9,50,000
it ~fi=+- 25,000
Y 5,00,000 | 3,70,000
TIRR 4,00,000 | 3,21,000
HERRETS 2,500 3,000
S H Uskhs ~fien- 40,000

o

Al F=rE —
(@) 99 2018-19 & <SRE ¥ 1,10,000
o fear @)

(b) HI= W HE A TH T 70,000 AT

From the data given below, prepare a Funds
Flow statement and the Schedule of changes

in working capital :

DRG 237 (8) (Turn Over)



(6)

31st March,|31st March,

2018 2019

(%) (%)
Share capital 10,00,000| 12,50,000
General Reserve 2,50,000] 3,00,000
Statement of Profit
and Loss (Surplus) 1,52,500 1,53,000
Creditors 7,50,000] 6.,76,000
Bank loan (Short-term)[ 3,50,000 Nil
Provision for Taxation 1,50,000 1,75,000
Plant 7,50,000 | 8,45,000
Land and Building 10,00,000| 9,50,000
Goodwill Nil 25,000
Stock 5,00,000 | 3,70,000
Debtors 4,00,000  3,21,000
Cash in hand 2,500 3,000
Cash at Bank Nil 40,000

Additional Informations :

(a) Dividend of ¥ 1,10,000 was paid during
the year 2018-19.

(b) Depreciation charged on Plant was ¥ 70,000.

Ta1e / Unit-IV

4. TH HEAT S IcUE oA §, ThH g9 h

fan = e TRId Rl ®

DRG_237 (8)
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(7)

TS (SR STCH| e TiH [ ST bl [He-3T9
A 5000 20000 160 20
B | 60000 | 120000 384 44
s Suftera fgar € -
el gl fdafaty amrd ¥ 5,50,000
T2-31q gl anrd 7 8,20,000
HT Tl AT 7 6,18,000

Amenl Tfafafy e @ra fafyr & emem
W IAE A Td B i Gfd THE AN i

TOMET R
A

7

company manufacturing

two products

furnishes the following data for a year:

Product|Annual output|Total machine|Total numbers of |Total numbers of
units hours purchase orders Set-ups
A 5000 20000 160 20
B 60000 | 120000 384 44
The Annual Overheads are as under :
Volume related activity costs T 5,50,000
Set-up related costs T 8,20,000
Purchase related costs T 6,18,000

You are required to calculate the cost per unit
of each product 4 and B based on Activity

based costing method.

374l / OR

DRG_237 (8)
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(8)

Aed AT FERT T 7 e AN AR
o gEfted eyt o fafve =Ron @
EUERCTIE

What is Target costing ? Discuss the different

phases of methodology in respect of target
costing.

T&1e / Unit-V

5. USY YA YUTGH 9 9 @ WHS | ?
goY Yol YUMell & 3239, hE Td HHE
AT

What do you understand by Management
information system ? Explain the objects,
functions and limitations of Management

information system.

374l / OR

Jehd gfqaed @ SR RN SINE © 2
gy & faf =R W SHA-SE 9 fqeed
g few s €2

What do you mean by reporting to

management ? Which reports are submitted to
various levels of management ?

DRG 237 (8) 1,200



